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9) The graph of f(z) = 3*~*+1 is obtained from the graph of g(z) = 3%
by

A) Shifting horizontally 4 units left and vertically 1 unit down.
B) Reflecting it about the z-axis and shifting vertically 1 unit up.
C) Shifting vertically 4 units up and horizontally 1 unit left.

@hiﬂ;ing horizontally 4 units to the right and vertically 1 unit up.

E) Shifting vertically 4 units down and horizontally 1 unit right.
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The inverse of the function f(z) =
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For -1 <z <1, t.an(sin_l x) equals ton (S.’n" ® )
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If fz)= <2+ —:—) then the expression f(a+/z);lf(a-h) s
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